ORGSOt B HY .

FHEIFRERER

RASFRDEESREEFROHS

2017%E 2018%E 2019%E 2020%E 20214E
1 =S % #| 10,963,188F8 | 10470.769| 10,036441| 10,137.210| 10,213,220
1 = ) &#| 2029 155F8 1,620,013 900.313 1.025.891 1.313.766
= H i ) | 1.918250FM 1,316,432 705,690 757,007 841,868
H = o 28 2,952 55M 2,938 2,920 2,901 2,804
H & W O £ 59,058 FO 58,776 58,408 58,029 56,082
fi = & 28 48,716 540 50,509 50,043 51,078 48,792
s & E L] 800,368 =5H 815,347 818,231 872612 894,761
BE O+ B = KB & 704,661 &5 711,289 731,050 780,542 805,279
= H &= e = 399,349 55M8 405418 419577 442,345 445,398
5] i 5l 75 i = 225,467 558 218,340 224,604 245,876 274,938
B K B 2 & KX b =E 12.62% 12.45 11.91 11.67 11.25
H & (C X 9 & B Y £(1174267158 |116,715,142|115941,183|115,222,898 111,441,228
H&E 1T OHFD DR X & 28 2 2 2 2
(53 = M 15 A 15 12 12 12
> 5 B #H & B # 9A 9 7 7 7
B 8 # 598 A 587 571 577 561
= 8 M 63.569 A 63.095 62,806 62,818 58.216
GF) HET1ODEEEIF50MHTI .
ey el s - Fm
2020%E 20214FE
=i Ea b 5! 1IN 3 8.186.811 8,389.451
=i & B 5! I i 8.493.857 8,639.876
= & e = & 25! 307,045 250,424
% ¥ W 35 £ W % 99,497 3,130
% B B 3 %5 I @ 1,349,721 1,308,431
% ® B 3 % # M 1,250,224 1,305,300
z O @ ¥ B W X% 46,674 78.315
< D i x5 I m 58,014 151.478
z O M ¥ ¥ # A 11,340 73,163
ES 7% 1 el i 8,332,983 8,470,898
ES % G| 7 Fi x 0.98% 0.96%

GE) 1. XFANEE =205 EEERMET9%S X 100
2. ENEHBmBIIEEREBBIIDOXAIELTEDFEEA.

R st - T
2020%E 2021 &

% % 0 # 1,619,903 1.740.335

x= B ¥ B @ 1,402,329 1.730.776

a0 7 % B Mm@ 1,401,447 1.764.838

0 7 * % i i

(KRB EFTBENERDZ K <o 1422028 1899.840

() 1. £Bim=28N5— GBER-SH0ETERRAER)
EBBERICE. FIXFAHEDSBOREESEFDK SHRFNERESZSFTENTLLELTVET,
Fle, BEEIHERAEN AL UTRABBOEBG. —REFSIHERAR (RCFWEER) Z3HE T,
2. FREXEBL =B+ —REES5 IHERAER
KREXEFMRE. EBMHD S, —REASIHERABROFEZRV/CHDTT,
3. D7 sl = RE SRS — EESEIHER
EfFAFERRE. EESASFTS EESEAFMNES. DRSMITR. DNSMAMUREE. DRSMAMMEAZER UK T,

# 47 %
2020FE 20215FE

= i B =5 #) =] 1.00 0.98

= i B = R i R 0.89 0.83

e & &= F & 0.10 0.15

Fllzia= Bl %
2020FE S0o1EE

w B E # B M #®m =X 0.11 0.14

B B BE X B & F #®m =X 0.08 0.09

GI) HEEES 4B AlmE= B (S R 100

WaE (BHRIERZRS) T%s



